2019 UMRCEA —FSATILUY—X / RAVNEBEYRL

N 1500&PN1

FEIEGL| BEE F1E | 528 | FEOER | 48k | SEoBK | SEOHL | 7L | F8EL | FoEK | F10E | £5P [ AXPEET
1 ARES 12 20 20 15 15 2 6 8 15 113 105
2 JI| EEE 15 15 10 12 12 15 12 3 20 114 101
3 TEEE 8 15 20 20 4 6 73 73
4 ZEEA 4 10 12 3 10 8 8 12 12 79 72
5 Ez 2 6 1 6 20 3 1 20 2 61 60
6 JIIB3XE] 10 4 6 12 3 8 43 43
7 ZHER 2 10 10 10 10 42 42
8 A Ht 3 3 8 6 10 2 4 36 36
9 RE & 20 20 20
9 3 R 20 20 20
11 ERJIESE 6 4 4 4 18 18
12 KEFEA 4 1 3 4 2 3 17 17
13 [ME#H 8 8 16 16
14 +FRFEA 15 15 15
14 | BEMEXRER 15 15 15
16 [J\KIEHE 12 12 12
17 B 18 8 3 11 11
18 |RHEEBE 6 6 6
18 |[ANER 6 6 6
21 EHIEH 2 1 3 3
22  |BXRER 2 2 >

&5t#8%  CCCR
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PN2&PN3
SEIEGL| BEE F1H | 2 | FEOER | F4Ek | o8k | SEoEL | F7EHL | FSEL | FoH | F10H | 55P [ AXPEET
1 WEEE 20 20 15 20 15 12 15 15 15 147 120
2 RA®RZ 20 12 12 8 6 20 20 98 98
3 L8 % 12 10 8 6 4 10 10 10 70 66
4 A= 10 6 8 12 12 48 48
5 I EF it 20 20 40 40
6 L= 20 15 35 35
7 )| 2 15 6 4 8 33 33
8 ERE—ER 15 10 25 25
9 EESA 10 12 22 22
10 |FEEX 10 8 18 18
11 WEETIN 15 15 15
12 |{EERER 12 12 12

&5t#8%  CCCR




2019 UMRCEA —FSATILUY—X / RAVNEBEYRL

N1
FEIEGL| FBEEE F1H | 28 | FEOER | 48k | SEoBK | SE6HL | FE7EL | F8EL | FoEK | F10E | S5P [ AXPEET
1 Ef & 15 20 15 3 15 15 15 12 110 107
2 EAaKE 20 10 8 6 20 6 20 12 10 112 100
3 BABRE 8 6 20 10 12 10 20 15 101 95
4 A HEARER 12 12 15 20 10 8 1 78 78
5 L fib 4 15 12 8 8 10 6 6 69 65
6 g F{Hth 10 12 6 3 4 4 8 47 47
7 SHET 8 10 20 38 38
8 TtEE— 12 12 24 24
9 IR TR 15 8 23 23
10 ick 20 20 20
11 EREF 4 10 6 20 20
12 |BESKAT 3 6 2 1 2 3 17 17
13 e 6 4 2 1 3 16 16
14 |Fp/Z%ER 3 4 2 9 9
15 | FEE— 8 8 8
16 BEMX 4 4 4

&5t#8%  CCCR




2019 UMRCEA —FSATILUY—X / RAVNEBEYRL

N 2
SEIEGL| BEE F1H | 2L | FEOER | F4Ek | 558K | EoEHL | F7EHL | FSEL | FoH | F10H | S5P [ AXPEET
1 21L& —ER 10 15 15 20 20 20 20 120 120
2 BIHX 20 10 12 20 8 12 12 15 12 121 103
3 N E 8 8 8 12 15 8 15 10 20 104 88
4 TR IEHH 3 20 10 10 6 6 8 12 15 90 81
5 FEHEIT 12 12 4 1 12 10 51 51
6 PR RS 4 6 3 2 15 6 8 44 44
7 RS 20 15 35 35
8 HEES 15 3 6 6 4 34 34
9 A SEh 6 10 4 10 30 30
10 |[BBAXREHA 2 4 4 3 10 23 23
11 /e 2 3 8 13 13
12 EEEN 3 6 9 9
13 [#EA & 1 2 3 6 6
14 BEHEAE 4 4 4

&5t#8%  CCCR




2019 UMRCEA —FSATILUY—X / RAVNEBEYRL

S1
SEIEGL| BEE F1H | 2L | FEOER | F4Ek | 558K | EoEHL | F7EHL | FSEL | FoH | F10H | S5P [ AXPEET
1 WH R 12 20 8 20 10 12 15 97 97
2 PEEFE 8 15 15 10 12 10 8 15 20 113 97
3 BE— 12 15 15 12 54 54
4 MHE & 10 10 6 4 8 38 38
5 ERAREX 20 15 35 35
5 e 2= == il 15 20 35 35
7 EERE 20 8 6 34 34
8 EHE— 20 12 1 33 33
9 IMIEZ 20 12 32 32
10 [FENE— 10 15 25 25
11 FASITE 4 20 20 20
12 fRH;FEH 12 8 20 20
13 |fieREFE 12 12 12
14 [#ERBX 10 10 10
14 I ih F0 B 10 10 10
16 B EBE 4 6 10 10
17 | KRFZ1BE 6 2 8 8
18 BEE3E 6 6 6
19 |[EBEERE 4 4 4
19 |[EE—RK 4 4 4
21 KEEEH 3 3 3
21 {ERES 3 3 3
21 =Ed 3 3 3
21 HESEBEEE 3 3 3
25  |HKEHN 2 2 2
26 |[#EHEH 1 1 1

&5t#8%  CCCR




2019 UMRCEA —FSATILUY—X / RAVNEBEYRL

S2
SEIEGL| BEE F1H | T2 | FEOER | F4Ek | o8k | SEoEL | F7EHL | FSEL | FoH | F10E | S5P [ HAXPEE
1 = HhH 5 10 10 20 15 20 8 15 15 20 133 110
2 A K 4 15 6 12 1 20 10 12 80 79
3 =P~ 12 12 3 8 6 8 20 10 79 76
4 hiERA 8 15 12 20 15 2 72 72
5 Kia=iE 3 8 10 4 6 20 4 12 8 75 68
6 25 B 15 8 8 4 12 15 62 62
7 LA {eR B 20 20 4 3 12 59 59
8 hHH#Z 6 10 10 26 26
9 ®_Eh 10 10 3 23 23
10 e b 2 15 17 17
11 BSH{E 2 3 1 4 6 16 16
12 JIFKZ 12 12 12
13 | KRF=E 6 6 12 12
14 XA & 1 8 9 9
15 FEE= 6 2 8 8
16 |[MERE 6 6 6
17 |#EX 8 3 3 3
18 Z—K B 2 2 2
19 SAT A 1 1 1
19  |FHFA 1 1 1

&5t#8%  CCCR




2019 UMRCEA —FSATILUY—X / RAVNEBEYRL

D
SEIEGL| BEE F1H | 2 | FEOER | F4Ek | o8k | SEoEL | F7EHL | F8EL | FoH | F10E | S5P [ AXPEE
1 E A 2 15 20 3 12 15 12 20 20 119 114
2 FEEE 8 15 20 15 10 6 15 89 89
3 ZF IF 6 20 12 1 12 20 3 74 74
4 AZE B 15 6 8 2 4 10 12 15 72 70
5 PR 10 10 8 8 8 3 12 59 59
6 HE T 1 8 4 10 2 10 10 45 45
7 BB AE 3 15 6 1 8 8 41 41
8 7= 20 20 40 40
9 ERE— 12 6 4 3 3 4 4 36 36
10 |8 H=E 20 2 22 22
11 TEESA 4 10 1 3 18 18
12 | —BE ] 6 6 6 18 18
13 gl R 15 15 15
14 & 2 R BB 12 12 12
14 |[AoOsES 12 12 12
16 [ZBERIEA 10 10 10
17 i85 #X 4 4 4
17 |\ EE=E 4 4 4
19 AR 2 p) 2

&5t#8%  CCCR




